
IntListNodeC

next = 

 elem = 38

IntListNodeC

next = 

 elem = 77

IntListNodeC

next = 

 elem = 14

IntListNodeC

next = 

 elem = 52

head = 

last = 

null

IntListNodeC

next = 

 elem = 38

IntListNodeC

next = 

 elem = 77

IntListNodeC

next = 

 elem = 38

IntListNodeC

next = 

 elem = 38

IntListNodeC

next = 

 elem = 52

head = 

last = 

null

node = 

IntListNodeC

next = 

 elem =

null

queue.add(47):

47

IntListNodeC

next = 

 elem = 52

head = 

last = node = 

IntListNodeC

next = 

 elem =

null

IntListNodeC

next = 

 elem = 52

head = IntListNodeC

next = 

 elem =

null

47

last = 

IntListNodeC

next = 

 elem = 52

head = 

last = node = 

IntListNodeC

next = 

 elem =

null

47

47

IntListNodeC

next = 

 elem = 14

IntListNodeC

next = 

 elem = 38

IntListNodeC

next = 

 elem = 77

IntListNodeC

next = 

 elem = 14

IntListNodeC

next = 

 elem = 77

IntListNodeC

next = 

 elem = 14

add−Method finished:

node = new IntListNodeC(47, null);

( last.elem = last.elem; )
last.set(last.value(), node);  <=>

last = node;

IntQueueElem queue

last.next = node;

IntListNodeC

next = 

 elem = 77

IntListNodeC

next = 

 elem = 14


